HERICE. BERALAADORICEATS )
B2 B E R (5)

s

RERESBECEICREATS
MRS R EEEZAR—LOOO

— S OE [ RAEROER . -
73 B PS #*
HE T BEA(15.0m x 4) 60.00 (@) @) AMi3.22m
(ER) A BEB(15.0m x4) 60.00 @) @) AMi1352m
= JBEC(15.36m x 2) 30.72 O O Hh13.66m
Bz Bk rf HEEFEE 124.00 0 o) *ﬁﬁ@
CEENES A — - BEIFOERA
gigtiﬁé &/ (4.00n1 x 3) 12.00 x x /L
FYNEE 4.20 x x
PS-DS 0.80 x x
A= yhAG 291.72
BEA(150n1 x 4) 60.00 O O A13.22m
N BEB(15.0n x 4) 60.00 O (e} Hxh1352m
= JBEC(15.36m x 2) 30.72 O O Hh13.66m
lf HEEFE 124.00 (@) @)
° &/ (4.00m x 3) 12.00 x x Oy
FHREE 4.20 x x gﬁ;f;f%ﬁ%
PS-DS 0.80 x x ~—
1zyhBE 291.72
BEA(150nf x 4) 60.00 O O A13.22m
2 BEB(15.0m x4) 60.00 O o A1352m
= JBEC(15.36m x 2) 30.72 O ©) A#13.66m
lf HEEFE 124.00 O (e}
© &/ (4.00m x 3) 12.00 x x
FYNEE 4.20 x x
PS-DS 0.80 x x
azvyhCEt 291.72
NEBEE 15.00 x x
BEBAE 15.00 x x
HENT EBE 15.00 x x
#izvh
glﬁém\ BEZE 15.84 x X
HRE 12.00 x x
NEMFEG.2m x 4) 20.80 x x
\ HEAR—R 50.00 x x
fBRIAZE®6.5m % 2) 13.00 x x
g R AR (B R138) (3.5m % 2) 7.00 x x
% |aaz 72| x
7 |z 2782 |  x x
RS 4,00 x x
BE3 18.60 x x
FEERZE1 18.00 x x
fEEr=2 18.00 X x
ILAR—4—F 10.50 x x
BT 140.00 x x
TI-LFE 1.60 X x
PS.EPS.DS 13.45 x x
HENLAE 454.33
1RE/NEE 1,329.49




2/ BEA(15.0m x 4) 60.00 o (0] x A13.22rm
. BEB(15.0m x 4) 60.00 (e} (e} x A1352m
= BEC(15.36m x 2) 30.72 O (e} x Hh13.66m
rf HELEE 124.00 o (@) x
P &/ (4.00n1 x 3) 12.00 x x x

BB E 4.20 x x x
PS'DS 0.80 x x X
1=vhDEt 291.72
BEA(15.0n x 4) 60.00 (@) (e} x Hh13.22m
4 BEB(15.0m x 4) 60.00 (@) (e} x Hh1352n
= JBEC(15.36m x 2) 30.72 O O x Hh13.66m
lf HEEFE 124.00 (@) @) x
£ &/ (4.00n1 % 3) 12.00 x x x Ty
IR 4.20 x x x gﬁsﬁ;f%ﬁ%
PS'DS 0.80 x x x —
A= yhER 291.72
NEBEE 12.00 x x x ggggg%
PEFHE(G.20 X 2) 1040 | x x x '
AKEEAR—Z 25.60 x (@) O~
BR8E 6.50 x x x
B (B R74) 350 x x x
—MRAE 38.72 x x x
g B (—h&iE) 17.50 x x x
i |mzzm 400  x x x
g BE4 16.40 x x x
FEERZE1 18.00 x x x
[ =2 18.00 x x x
ILAR—4—=F 10.50 x x x
BT 90.00 x x x
TI-LRE 1.60 x x X
PS.EPS.DS 13.45 x x x
HENLAEE 286.17
2[&/NEE 869.61
HEER 2,199.10
() [ |mmms s 647.79
TN —peHIT AN 1,458.60
N7y H&EINT Y5 1,388.29
BHERKRE 2,846.89
a—k 10 BEA(15.0n x4) 60.00 (e} O x H13.22m
(FR) BEB(15.0m x4) 60.00 O O x Am1352m
JBEC(15.36m x 2) 30.72 (e} O X ax13.66m
HEEFE 124.00 O (@) X
EFR (4.00m x 3) 12.00 x X x
EYIEE 4.20 x x x
BT 14.40 O o x
PS:DS 0.80 x x x
a—+EAE 306.12
() [ [mms e 90.17
a—hRTAE 396.29
HEARK+ 3 3,243.18




) A EADEE
HEERAE A BEZDEWH FREE £
R B x #
FAY-EREVE- 10 BE 92.30 (e} O x
(FA) HaeslEE 95.87 O O X
BEE 29.70 X x X
BE 12.00 X x X
EYNEE 6.80 X x X
{EFT(4.00m x 5) 20.00 X x X
LiEEES 24.40 X x X
—RaE 36.00 X x X
HABE
BK=E 26.40 X x x
BRREERT 4.00 X x X
TAER 347.47
() [ [mms s 102.35
TAY—EXEL4—F 449.82
NVIR=RT—=230 HENEXFELE—,
E%ﬁ?ﬁi‘;#ﬁ%#ﬁﬁ. I FRAN -2EEDE
DMFEE A HDIGEEIEZDMEIZZEAT D,
} A EADOEE
HEEEAE A BEZDEH REE £
R B x #
AN =AT=Y3Y /1 B ANIS—RT—3v 55.20 X X X

BENEZIEEEM

10 BENEIESER




HAES OEE (BE)

HEERFE R HMEZEOEH RETH AHRAOHR wE
B x F*
HE 1B RRE 14.20 x
Ya—t LER—IL 43.80 o
74 Z BN -R 162.00 x
THA BHE 78.65 x ggggg@
AHE 7.80 x
2HE 38.44 x x ]
BE1 12.00 X
BE2 12.00 X
HEE 102.40 X
RELTE 7.60 x
HRE=E 10.00 x
BMmE 12.40 x
BRIRE 9.18 x
fErr 1.82 x
BER 2.62 x
BFOvhA—% 8.56 x
BFHEER 5.70 x
ZFOVA—E 16.64 X
ZFBEER 15.66 x
BEAKEE 20.00 x
HEE 48.84 x
W= 50.00 x
BT 160.00 (@)
1R &t 840.31 Eﬁ’f@%}% ff%“
FRORMER o
EEEER
HHEEEAR—L 774N —bEIT TN - 5T 1,458.60
N7Yh&EINT Y5 1,388.29
R 2,846.89
a—bRTA 396.29
BE-a—hEt 3,243.18
TAY—ERtEUE— 449.82
ANILIN—RT— 3 55.20
SR 3,748.20

wWYMEESNEE

FTanvRURE

JERARR/ La=—

BEREL ENEE

&
8.00 =

14.84

3,771.04

AR D EANEE LS
BERELFEAShDE
FHESMET LTS




